

On Lie ideals of inverse semirings

S. Sara*

*House no. 638, Block F
Gulshan Ravi, Lahore
Pakistan
Postal code 54000
saro_c18@yahoo.com*

M. Aslam

Abstract. The purpose of this paper is to study Lie ideals of inverse semirings, thereby extending a few well-known results of I.N Herstein and C.Lanski in the setting of inverse semirings.

Keywords: inverse semiring, Lie ideals, commutators, prime inverse semiring.

1. Introduction

Lie ring structure of an associative ring R was first considered by I.N Herstein in 1950's. He studied Lie ideals and their relationship with R in series of papers ([9],[10],[11]). In ensuing years, the study of Lie ideals generalized to prime and semiprime rings and rings with involution. Herstein's work on Lie ideals proved to be a source of motivation for many researchers to look into the Lie theory in various other directions and settings ([1],[3],[4],[5],[8],[11],[14],[18],[19],[20]). Recently, M.A Javed and M.Asalam [16] introduced the notion of Lie ideals in inverse semirings and investigated some commutativity conditions on inverse semirings with the help of Lie ideals and derivations.

Our objective is to explore and generalize Lie type results of rings in the setting of semirings, thereby we extend a few results on Lie ideals of [10],[14] and [18] to inverse semirings. These results will be helpful in investigating the theory of Lie derivation and higher derivation of Lie ideals of semirings.

Herstein [10] proved a result on Lie ideals which says that; A non-zero Lie ideal U of a 2-torsion free simple ring R is either contained in center of R or contains a non-zero ideal of R . Later, in dealing with some problems on von Neumann algebra, Herstein [14] extended this result to semiprime rings as follows; Let R be a semiprime 2-torsion free ring and V be subring of R . Suppose U is a Lie ideal of R such that $[V, U] \subset V$ then either $[V, U] = 0$ or V contains non-zero ideal of R . Lanski [18] proved the same result with prime rings (Theorem 12 of [18]). In this paper, we establish these two main results of Lie ideals for prime inverse semirings.

*. Corresponding author

By S , we mean a semiring with commutative addition and an absorbing zero. A semiring S is called an inverse semiring[17] if for every $a \in S$ there exists a unique element $\acute{a} \in S$ such that $a + \acute{a} + a = a$ and $\acute{a} + a + \acute{a} = \acute{a}$. Karvellas [17] proved that for all $a, b \in S$, $(a.b)^\acute{ } = \acute{a}.b = a.\acute{b}$ and $\acute{a}\acute{b} = ab$. Bandler and Petrich [2] studied inverse semirings with some conditions (A1)-(A4). Throughout this paper, S will denote inverse semiring which satisfies (A-2) condition of [2] i.e; for every $a \in S$, $a + \acute{a} \in Z(S)$, where $Z(S)$ is center of S . This class of inverse semiring is known as MA semiring[15], which is indeed useful in developing the Lie type theory of semirings and studying certain additive mappings in semirings (see for example [21], [22], [23]). Commutative inverse semirings and distributive lattices are natural examples of MA-semiring. Also, if R is a ring and T is a subset of all ideals of R then $S = \{(a, I) : a \in R, I \in T\}$ is MA-semiring(see [15]). For more examples, we refer readers to [15]. A semiring S is prime if $aSb = 0$ implies either $a = 0$ or $b = 0$. S is 2-torsion free if $2x = 0$, $x \in S$ implies $x = 0$. By [15], a commutator $[\cdot, \cdot]$ in inverse semiring is defined as $[x, y] = xy + \acute{y}x$. Unlike a commutator of a ring, it is not necessary that $[x, x] = 0$ for every $x \in S$. We will make use of fundamental identities of commutators $[x, yz] = y[x, z] + [x, y]z$, $[xy, z] = [x, z]y + x[y, z]$ and the jacobian identity $[x, [y, z]] = [[x, y], z] + [y, [x, z]]$ (see [15]). By [16], an additively closed subset U of S is called Lie ideal of S if $[U, S] \subset U$. By $[U, V]$, we mean an additive subsemigroup of S generated by the elements of the form $[u, v]$, where $u \in U$ and $v \in V$. A Lie ideal U is said to be commutative Lie ideal if $[U, U] = 0$. An additive mapping d on S is called derivation if $d(xy) = d(x)y + xd(y)$, $x, y \in S$.

We shall need following two results in our arguments.

Lemma 1 (Lemma 1.2. of [21]). *If $x, y, z \in S$ then the following identities are valid:*

- (1) $[xy, x] = x[y, x]$, $[x, yx] = [x, y]x$, $[x, xy] = x[x, y]$, $[yx, x] = [y, x]x$;
- (2) $y[x, z] = [x, yz] + [x, y]z$, $[x, y]z = \acute{y}[x, z] + [x, yz]$;
- (3) $x[y, z] = [xy, z] + [x, z]\acute{y}$, $[x, z]y = [xy, z] + \acute{x}[y, z]$.

Theorem 2 (Theorem 2.7 of [16]). *Let S be a 2-torsion free prime inverse semiring and d be a non-zero derivation of S . If $a \in S$ and $[d(S), a] = 0$. Then $a \in Z(S)$.*

We will make frequent use of the following lemma.

Lemma 3. *Let S be an inverse semiring and $a \in S$. If $[a, x] = 0$ for all $x \in S$. Then $a \in Z(S)$.*

Proof. *We have, $0 = [a, x] = ax + x\acute{a}$. Adding xa on both sides we have, $xa = ax + x(\acute{a} + a) = ax + (\acute{a} + a)x = ax$. Thus $a \in Z(S)$.*

The main results of this paper deal with the case in which S is prime and so we assume S to be prime and 2-torsion free, in the subsequent discussions.

Theorem 4. *Let U be a non-zero Lie ideal and subsemiring of S then either $U \subset Z(S)$ or U contains a non-zero ideal of S .*

Proof. Suppose that U is commutative, that is; $[U, U] = 0$. Let $a \in U$ and $s \in S$ then $[a, s] \in U$ and $[a, [a, s]] = 0$. Replacing s by $st, t \in S$ in last equation we get, $[a, s][a, t] = 0$. Replacing t by st in last expression, we have $0 = [a, s]s[a, t]$. But S is prime so $[a, s] = 0$. Hence by Lemma 3, $U \subset Z(S)$.

Suppose that U is non-commutative. Let $a, b \in U$ such that $[a, b] \neq 0$. As U is a Lie ideal so for $s \in S$ we have,

$$[a, sb] = [a, s]b + s[a, b] \in U.$$

U is also subsemiring of S so $[a, s]b \in U$. Thus we have, $[a, s](b + \acute{b}) + s[a, b] \in U$ or $(as + s\acute{a})(b + \acute{b}) + s[a, b] \in U$ or $(s + \acute{s})ab + s(b + \acute{b})\acute{a} + sab + s\acute{b}a \in U$ or $s[a, b] \in U$.

For $t \in S$ we have, $[s[a, b], t] \in U$ or $s[a, b]t + \acute{t}s[a, b] \in U$. From this, $s[a, b]t + \acute{t}s[a, b] + ts[a, b] \in U$ or $s[a, b]t \in U$. Clearly, $S[a, b]S$ is an ideal of S contained in U . If we say $S[a, b]S = (0)$ then either $S[a, b] = (0)$ or $[a, b] = 0$, which gives a contradiction. Hence, $S[a, b]S$ is non-zero ideal contained in U . This establishes the theorem.

Corollary 5. *Let $a \in S$ and $[a, [a, s]] = 0$ for all $s \in S$. Then $a \in Z(S)$.*

Lemma 6. *Let I be a non-zero ideal of S such that $[a, I] = 0, a \in S$. Then $a \in Z(S)$.*

Proof. Let $s \in S$ and $b \in I$ then $[a, sb] = 0$. Thus we have, $[a, s]I = 0$. But S is prime so $[a, s] = 0$. Hence by Lemma 3, $a \in Z(S)$.

Lemma 7. *Let U be a Lie ideal of S then either $[U, S] = 0$ or $[T(S), S] = 0$, where $T(U) = \{x \in S : [x, U] = 0\}$.*

Proof. It is easy to see that $T(U)$ is a Lie ideal and subsemiring of S so by Theorem 4 either $[T(U), S] = 0$ or $T(U)$ contains a non-zero ideal, say I . If $I \subset T(U)$ then from Lemma 6, we obtain $[U, S] = 0$.

The following corollary immediately follows from Lemma 3.

Corollary 8. *Let U be a Lie ideal of S then either $U \subset Z(S)$ or $T(U) \subset Z(S)$.*

Lemma 9. *Let U_1 and U_2 be Lie ideals of S such that $[[U_1, U_2], S] = 0$. Then either $[U_1, S] = 0$ or $[U_2, S] = 0$.*

Proof. If $[U_1, U_2] = 0$ then by Lemma 7, either $[U_1, S] = 0$ or $[U_2, S] = 0$. Let $[U_1, U_2] \neq 0$. Suppose $[U_1, S] \neq 0$ and $[U_2, S] \neq 0$. Let $u \in U_1, v \in U_2$ and $s \in S$ then

$$[[u, [v, vs]], S] = 0.$$

Using Lemma 1 we have, $[[u, v][v, s] + v[u, [v, s]], S] = 0$. In particular, $[[u, v][v, s] + v[u, [v, s]], v] = 0$. From this, we obtain

$$(1.1) \quad [u, v][v, s]v + v[u, [v, s]]v + \acute{u}[u, v][v, s] + \acute{u}v[u, [v, s]] = 0.$$

By Lemma 3 and the given hypothesis we have, $[U_1, U_2] \in Z(S)$ which implies that $v[[u, [v, s]], v] + [u, v][[v, s], v] = 0$ and hence $[u, v][[v, s], v] = 0$. Therefore, $[u, v]S[[v, s], v] = S[u, v][[v, s], v] = 0$. But S is prime so $[[v, s], v] = 0$ which by Lemma 7 implies that either $[v, S] = 0$ or $[[v, s], S] = 0$. From Corollary 5, $[v, S] = 0$ which contradicts that $[U_2, S] = 0$. This completes the proof.

Corollary 10. *Let U_1 and U_2 be Lie ideals of S and $[[U_1, U_2], S] = 0$. Then either $U_1 \subset Z(S)$ or $U_2 \subset Z(S)$.*

Lemma 11. *Let U be a Lie ideal and $V \subset S$ such that $[[U, V], S] = 0$. Then either $[U, S] = 0$ or $[V, S] = 0$.*

Proof. Consider $T = \{x \in S : [[x, U], S] = 0\}$ then using jacobian identity we can show that T is a Lie ideal of S . Hence, by Lemma 9 either $[U, S] = 0$ or $[T, S] = 0$.

Lemma 12. *If U is a Lie ideal of S , $x \in S$ and $xUx = 0$ then either $x = 0$ or $U \subset Z(S)$.*

Proof. For $s \in S$ and $u \in U$, we have $x[u, s]x = 0$. Replacing s by u_1xs , $u_1 \in U$, we get $xuu_1xsx = 0$. But S is prime so either $x = 0$ or $xuu_1x = 0$. Suppose $x \neq 0$. Replacing s by u_1u_2xs in $x[u, s]x = 0$ we have xuu_1u_2sx . Continuing this, we arrive at $x\bar{U}x = 0$ where \bar{U} is subsemiring of S generated by U . If $U \not\subset Z(S)$ then $\bar{U} \not\subset Z(S)$. By Theorem 4, \bar{U} contains a non-zero ideal, say I . Hence $xIx = 0$ but S is prime so $x = 0$, a contradiction. Hence lemma is proved.

The next lemma is an extension of Lemma 10 of [18] in a canonical fashion.

Lemma 13. *Let $U \not\subset Z(S)$ be a Lie ideal of S and V be an additive subsemigroup of S and $[U, V] \subset V$. If $v^2 = 0, \forall v \in V$ then $V = 0$.*

Lemma 14. *Let $U \not\subset Z(S)$ be a Lie ideal of S and V be an additive subsemigroup of S such that $[V, U] \subset V$. If $[V, V] = 0$ then $V \subset Z(S)$.*

Proof. Put $I = [V, U]$ then $[I, I] = 0$. Let $a \in I, u \in U$ and $s \in S$ then using Lemma 1 we have, $0 = [a, [a, [u, us]]] = 2[a, u][a, [a, s]]$. S is 2-torsion free so $[a, u][a, [a, s]] = 0$. Replace s by au , we obtain

$$(1.2) \quad [a, u]^3 = 0, a \in I, u \in U.$$

Also,

$$(1.3) \quad [a, [a, u]] = a^2u + 2au\acute{a} + ua^2 = 0.$$

If $a \in I$ such that $a^3 = 0$ then from (3), $a^3ua + 2a^2uáa + auá^3 = 0$ which gives $a^2ua^2 = 0$. By Lemma 12, $a^2 = 0$. Again, by (3) we get $a = 0$. Hence, if $a \in I$ and $a^3 = 0$ then $a = 0$. So from (2), $[a, u] = 0, u \in U, a \in I$. By Lemma 7, $[I, S] = 0$ and therefore $[V, S] = 0$, by Lemma 9.

Theorem 15. *Let U be a Lie ideal and $V \subset U$ be an additive subsemigroup of S such that $[V, U] \subset V$. If $[[V, V], S] = 0$ then $[V, U] = 0$.*

Proof. If $[V, V] = 0$ then by above Lemma $[V, S] = 0$ and hence $[V, U] = 0$, as desired. Suppose $v_1, v_2 \in V$ such that $\alpha = [v_1, v_2] \neq 0$ then $[\alpha, S] = 0$ or $\alpha \in Z(S)$, by Lemma 3. For $s \in S$, let $d(s) = [v_1, s]$ then by given hypothesis we have

$$[d^2(u), S] = 0, \forall u \in U.$$

For $x \in S$, let $u_1 = [v_2, x] \in U$ then $v_2u_1 \in U$. Thus we have $[d^2(v_2u_1), S] = 0$. But $d^2(v_2u_1) = v_2d^2(u_1) + 2\alpha d(u_1)$. Therefore, $[v_2d^2(u_1) + 2\alpha d(u_1), S] = 0$. In particular, $0 = [v_2d^2(u_1) + 2\alpha d(u_1), v_2] = 2\alpha[d(u_1), v_2]$ or $\alpha[d(u_1), v_2] = 0$.

As S is prime so non-zero elements of $Z(S)$ cannot be zero divisors in S , thus we have $[d(u_1), v_2] = 0$. Hence $[[v_2, d(x)], v_2] = 0$. Replacing x by v_1x in last expression and using it again, we have $0 = [[v_2, d(v_1x)], v_2] = [[v_2, v_1d(x)], v_2] = \alpha[v_2, d(x)] + v_1[[v_2, d(x)], v_2] + [\acute{\alpha}, v_2]d(x) + \acute{\alpha}[d(x), v_2] = 2\alpha[v_2, d(x)]$.

Therefore, $\alpha[v_2, d(x)] = 0$. Primeness of S implies that $[v_2, d(x)] = 0, x \in S$. By Theorem 2, $v_2 \in Z(S)$. As $[[v_1, v_2], S] = 0$ so $[[v_1, v_2], v_2] = 0$ or $[v_1, v_2]v_2 = 0$. This implies that either $\alpha = 0$ or $v_2 = 0$, a contradiction. Hence theorem is proved.

Theorem 16. *Let U be a Lie ideal of S and V a subsemiring of S such that $[V, U] \subset V$. Then either $[U, S] = 0, [V, S] = 0$ or V contains a non-zero ideal of S .*

Proof. If $[V, U] = 0$ then by Lemma 7, either $[V, S] = 0$ or $[U, S] = 0$. Suppose $[V, U] \neq 0$. As U is Lie ideal we have $[V, U] \subset V \cap U$. Let $s \in S, t \in [V, U]$ and $v \in V$ then $[v, [t, ts]] \in [V, U] \subset V$ or $[v, t[t, s]] \in V$, by Lemma 1. Also, $t[v, [t, s]] \in V$. Thus by Lemma 1 we have $[v, t][t, s] = [v, [t, ts]] + \acute{t}[v, [t, s]] \in V$, that is;

$$(1.4) \quad [v, t][t, s] \in V, \quad t \in [V, U], v \in V.$$

Again, using Lemma 1 we obtain

$$(1.5) \quad [v, t][t, w]s = [v, t][t, ws] + [v, t]w[t, s].$$

Using the fact that $[V, U] \subset V$ and V is subsemiring of S we have, $[v, t]w[t, s] = [v, t](w+\acute{w}+w)[t, s] = [v, t][t, s](w+\acute{w}) + [v, t]w[t, s] = [v, t][t, s]w + [v, t][w, [t, s]] \in V$. This together with (4) and (5) gives $[v, t][t, w]s \in V, \forall w, v \in V, t \in [V, U], s \in S$. Hence $[u, [v, t][t, w]s] \in V$ for all $u \in U, s \in S$. So we have,

$$u[v, t][t, w]s = [u, [v, t][t, w]s] + [v, t][t, w]su \in V.$$

Continuing in this manner, we arrive at $\bar{U}[v, t][t, w]S \subset V$ where \bar{U} is subsemiring generated by U . Because $[V, U] \neq 0$, hence by Lemma 3 $U \not\subset Z(S)$ so $\bar{U} \not\subset Z(S)$. By Theorem 4, \bar{U} contains a non-zero ideal say, I of S . Then $I[v, t][t, w]S$ is an ideal of S in V . Our theorem is proved if we show $I[v, t][t, w] \neq 0$. Suppose $I[v, t][t, w] = 0$ then primeness of S implies that

$$(1.6) \quad [v, t][t, w] = 0, \forall v, w \in V, t \in [V, U].$$

Replacing v by vv_1 in (6) we have

$$(1.7) \quad [v, t]v_1[t, w] = 0, \forall w, v, v_1 \in V, t \in [V, U].$$

Let $s \in S, a \in V$ and $t_1 \in [V, U]$ then $u = [[a, t_1], s] \in U$ which implies that $[u, [a, t_1]] \in [V, U] \subset V$. But $[u, [a, t_1]] = 2[a, t_1]s[a, t_1]$. Thus $2[a, t_1]s[a, t_1] \in V$. From this and (7) we get

$$(1.8) \quad [v, t][a, t_1]S[a, t_1][t, w] = 0.$$

Primeness of S implies that either $[v, t][a, t_1] = 0$ or $[a, t_1][t, w] = 0$. Suppose for all $v, a \in V$ and $t, t_1 \in [V, U]$

$$(1.9) \quad [v, t][a, t_1] = 0.$$

Put $V_1 = [V, [V, U]]$ then V_1 is a Lie ideal of U i.e; $[V_1, U] \subset V_1$ and from (9), we have

$$(1.10) \quad [v, t]V_1 = 0.$$

Thus $[v, t][v_1, u] = 0, u \in U, v_1 \in V_1$. From this, we have $[v, t]UV_1 = 0$. In particular, $[v, t]U[v, t] = 0$. By Lemma 12, either $[v, t] = 0$ or $U \subset Z(S)$. But $[V, U] \neq 0$ so $[v, t] = 0, v \in V, t \in [V, U]$. Hence $V_1 = [V, [V, U]] = 0$. Put $I = [V, U]$ then $[I, U] \subset I$ and $[I, I] \subset [V, [V, U]] = 0$. It follows from Lemma 14 that $[I, S] = 0$. By Corollary 10, we get $[V, S] = 0$. Thus assuming V does not contains non-zero ideal, we obtain the desired result. Similarly, the case with $[a, t_1][t, w] = 0$. This completes the proof.

Corollary 17. *Let U be a Lie ideal of S and V a subsemiring of S such that $[V, U] \subset V$. Then either $U \subset Z(S), V \subset Z(S)$ or V contains a non-zero ideal of S .*

Theorem 18. *Let U be a Lie ideal and V an additive subsemigroup of S such that $[V, U] \subset V$. Then either $V \subset Z(S), U \subset Z(S)$ or $0 \neq [M, S] \subset V$ for an ideal $0 \neq M$ of S .*

Proof. Put $I = [V, U]$ and $T = \{x \in S : [x, S] \subset I\}$. It is easy to see that T is subsemiring of S , since for $t_1, t_2 \in T$ and $x \in S$ we have, $[t_1t_2, x] = t_1t_2x + t_1(t_2 + t_2')x + xt_1t_2 = t_1t_2x + (t_2 + t_2')xt_1 + xt_1t_2 = [t_1, t_2x] + [t_2, xt_1] \in I$.

Moreover, by jacobian identity we have

$$[[I, I], S] \subset [I, [I, S]] \subset [I, [U, S]] \subset [V, U] = I.$$

which gives that $[I, I] \subset T$. Consider a subsemiring T_0 of T which is generated by $[I, I]$. As $[[I, I], U] \subset [I, [I, U]] \subset [I, I]$ therefore, $[T_0, U] \subset T_0$. By Theorem 16, either $[T_0, S] = 0$, $[U, S] = 0$ or T_0 contains a non zero ideal say M of S . If $[T_0, S] = 0$ then $[[I, I], S] = 0$ and hence $[I, U] = 0$, by Theorem 15. Set $T_1 = \{x \in S; [x, U] = 0\}$. Then T_1 is Lie ideal of S , because $I \subset T_1$. So by Lemma 9 and Lemma 11 we have either $[U, S] = 0$ or $[V, S] = 0$. If $M \subset T_0 \subset T$ then $[M, S] \subset I \subset V$. Hence proved the theorem.

Acknowledgement.

We are thankful to the referee for his valuable comments and suggestions.

References

- [1] R. Awtar, *Lie and Jordan structure in prime rings with derivations*, Proc. of the Amer. Math. Soc., 41 (1973) 1, 67-74.
- [2] H.J. Bandlet, M. Petrich, *Subdirect products of rings and distributive lattices*, Proc. Edin Math. Soc., 25 (1982), 135-171.
- [3] W. E. Baxter, *Lie simplicity of a special class of associative rings II*, Transactions of the Amer. Math. Soc., 87 (1958) 1, 63-75.
- [4] J. Bergen, I. Herstein, J. W Kerr, *Lie ideals and derivations of prime rings*, Journal of Algebra, 71 (1981), 259-267.
- [5] T. S. Erickson, *The Lie structure in prime rings with involution*, Journal of Algebra, 21 (1972), 523-534.
- [6] S. Ghosh, *A characterization of semirings which are subdirect products of a distributive lattice and a rings*, Semigroup Forum, 59 (1999), 106-120.
- [7] J.S. Golan, *The theory of semirings with applications in mathematics and theoretical computer science*, John Wiley and Sons. Inc., New York,
- [8] C. Haetinger, *Higher derivations on Lie ideals*, Tendencias em Matematica Aplicada e Computacional, 3 (2002)1 , 141-145.
- [9] I. N. Herstein, *The Lie ring of a simple associative ring*, Duke Math. Journal, 22 (1955), 471-476.
- [10] I.N. Herstein, *On the Lie and Jordan rings of a simple associative ring*, Amer. J. of Math., 77 (1955)2, 279-285.

- [11] I. N. Herstein, *Lie and Jordan systems in simple rings with involution*, Amer. J. Math., 78 (1956), 629-649.
- [12] I.N. Herstein, *Lie and Jordan structures in simple associative rings*, Bull. Amer. Math. Soc., 67 (1961) 6, 517-531.
- [13] I.N. Herstein, *Topics in ring theory*, Univ of Chicago Press, 1969.
- [14] I.N. Herstein, *On the Lie structure of an associative ring*, Journal of Algebra, 14 (1970), 561-571.
- [15] M. A. Javed, M. Aslam and M. Hussain, *On condition (A_2) of Bandlet and Petrich for inverse semirings*, Inter. Math. Forum, 7 (2012), 2903-2914.
- [16] M. A. Javed, M. Aslam, *Some commutativity conditions in prime MA-semirings*, ARS Combinatoria, 114 (2014), 373-384.
- [17] P.H. Karvellas, *Inversive semirings*, J. Austral. Math. Soc., 18 (1974), 277-288.
- [18] C. Lanski and S. Montgomery, *Lie structure of prime rings of characteristic 2*, Pacific J. Math., 42 (1972) 1, 117-136.
- [19] C. Lanski, *Lie structure in semiprime rings with involution*, Communication in Algebra, 4 (1976), 131-146.
- [20] W. S Martindale, *Lie derivations of primitive rings*, Michigan Math. J., 11 (1964) 2, 183-187.
- [21] S. Sara, M. Aslam, M.A. Javed, *On centralizer of semiprime inverse semirings*, Discuss. Math. Gen. Algebra Appl., 36 (2016), 71840.
- [22] S. Sara, M. Aslam, *Centralizers on semiprime MA semiring*, Quasigroups Related Systems, 24 (2016), 269-276.
- [23] S. Sara, M. Aslam, M.A. Javed, *On dependent elements and free actions in inverse semirings*, Int. Math. Forum, 11 (2016), 557-564.

Accepted: 29.04.2017